o= A2

olJ

o] Lhirol Az aitt 2

IS

op

@ 64+1.6 ® 64+24

D 64 +0.8

® 64+64

@ 64 +3.2



L ol

Fao) ol ol vzt 5 A AAZE st @) sdeh @
ol th3t @] Wole] ule] g Ak}




N
all
=
N
i
2
%0
rr
ok
1o
-

A AR Y 42 kgol U, 7]

allf
e
\
-
N
il
32
filo
B
i
S

92 #AE Aolny 32 kgol A&,

ol 715 1L7F 5°1 3= 71589 7= 2 kg du71?

5 2 5
k —k 2— ki
O s ? i ® 22 ke
@ 3-kg ® 2-kg



bR thg A A2 Fxof =017 30 em7t HEE =
FUoh O 50 U= 9 F2 2 em?® YU7P?
60cm- - =-80cm=-~
\
; 5/Ocm
30cth| o ___. -
D 7000 cm?® @ 72000 cm? ® 140000 cm?

@ 144000 cm? ® 240000 cm?®



